

DETAILED ESTIMATE FOR RENOVATION OF BOARDING FOR GIRLS AT DON BOSCO VYSARPADI CHENNAI

	CHENNAI	1	1		
					26.02.2 2
Sl.no	Description of work	No	Length	Depth	Qty
1	Colour washing with ACEemulsion				
	for walls one coat white				
	colour.	_			
	(a) Lobbyinside	1	35	5	175
	(b)Verandah	1	75	5	375
	(c) Dormitory 1	1	100	5	500
	(d) Toilets	2	27.5	5	275
	(e) Sick Room	1	42	5	210
	(f) Warden room	1	40	5	200
	(g) Dormitory 2	1	102	5	510
	(h) Toilets inside	14	18	4	1008
		1	50	6	300
		1	75	24	1800
		1	30	20	600
					5953
2	Colour washing with ACEemulsion				
	for Ceiling one coat white colour.				
	(a) Lobbyinside	1	8.75	8.75	76.5625
	(b)Verandah	1	8.5	29	246.5
	(c) Dormitory 1	1	20	29	580
	(d) Toilets	2	5	8.75	87.5
	(e) Sick Room	1	12	8.75	105
	(f) Warden room	1	10	10	100
	(g) Dormitory 2	1	29	22	638
	(h) Toilets outside	1	52	10	520
	, , , , , , , , , , , , , , , , , , , ,	_	3_		2353.563
3	Colour washing with ACEemulsion				
	outside two coats white colour.		4=0		
	(a) Outside	1	170	20	3400
	(b)Head room	1	35	20	700
	(c) Compound wall	1	80	8	640
					4740



Г	4	Painting one Coats for truss			
		and doors iwith enamel			
Γ		paint		LS	
Γ					
Γ					
Γ	5	Removing old doors and plastering		13	
ľ					
ľ	6	Miscallaneous		LS	
ľ					
ľ					
ľ					
Γ					
Γ					
Γ					
Γ					
Γ					
Ĺ					
ſ					



ABSTRACT ESTIMATE FOR RENOVATION OF BOARDING FOR GIRLS AT DON BOSCO VYSARPADI CHENNAI

	CHENNA	A)			
Sl.no	Description of work	Qty	Rate	Per	Amount
1	Colour washing with ACE emulsion				
	for walls one coat white				
	colour.	5953	10		59530
2	Colour washing with ACE emulsion				
	for Ceiling one coat white colour.				
	paint	2354	15		35310
3	Colour washing with ACE emulsion				
	outside two coats white colour.	4740	15		71100
4	Painting one Coats for truss				
	and doors with enamel				
	paint	1	50000		50000
5	Removing old doors and plastering	30	2000		60000
6	Miscallaneous	LS	25000		25000
			Total		300940
	(Rupees Three lakhs nine hu	ndred an	d forty o	nly.)	



Quotation ABS Doors

		Door						
S.No	Particulars	Door Type	W (mm)	H (mm)	Style	Rate/ Unit	Total Units	Amount (Rs)
1	Door with Frame	Single	800	2050	Plain	₹ 8,450	7	₹ 59,150
2	Door with Frame	Double	1200	2050	Plain	[,] 13,650	10	₹ 1,36,500
		Total	17	₹ 1,95,650				
S.No		Particular	s			Rate/Unit	Total Units	Amount(Rs)
Butterfly Hinges Single Door						150	21	3150
2	2 Butterfly Hinges Double Door					150	60	9000
3	3 Door Installation Charges Single Door					750	7	5250
4	Door Installation Charges Double Door				1000	10	10000	
					Total		₹ 27,400	
						Таха	ble Amount	₹ 2,23,050
						GST	18%	₹ 40,149
_				Grand To	tal after GST	₹ 2,63,199		

Note

Hardwares Including Locks, Tower Bolt, Door Sopper, Door Closer will be of client's choice

Validity: The quotation is valid only for 15 days from the date mentioned in this quotation.

Semi Pattern Doors will incur additional Rs. 500/ - per door. Pattern Doors will incur additional Rs. 1000/- per door. Vision Panel Doors will incur additional 20% of the door cost per door.



Specification

The door shutter shall be fabricated both sides with Korean ABS Sheet.

The Door shutter shall be constructed with Solid Purple PVC bar (Bend and twist resistance) and Laminated Veneer Lumber (LVL). The Door Shutter's Inner portion shall be filled with high resistance honey comb structure.

The Door Frame is made of Solid foamed PVC.

Standard Thickness of the Door is 35mm

Standard width of the frame is 110 mm.

Door will be fixed with Butterfly Hinges.

The colour and pattern of the door will be subject to available of stock and requirement.

Any other fittings other than mentioned in the quotation will be charged extra.

Terms and Conditions

- 1. 80% advance payment along with Purchase order.
 - a. 10% after delivery,
 - b. 10% after the Installation check.
- 2. Doors will be transported through a common transporter suggested by the client, which the client will pay directly.
- 3. Transportation will be charged on the actual.
- 4. Quote does not include any rectification, dismantling /erection of any masonry or concrete structure.
- 5. Unloading at Site, shifting to the location and safety & security of the delivered products will be client's responsibility.



Quotation uPVC Windows

SI.No	Description	Glass	Height (Mt)	Width (Mt)	Per Windows Area (Sq. ft)	Units (Nos)	Total Area (Sq. Ft.)	Rate per Sq. Ft.	Am	ount (Rs.)
1	Sliding Window		0.906	1.787	17.40	1	17.40	350.00	₹	6,089.30
2	Sliding Window		0.870	1.795	16.78	1	16.78	350.00	₹	5,873.52
3	Sliding Window		0.886	1.420	13.52	1	13.52	350.00	₹	4,731.92
4	Sliding Window		0.827	0.642	5.71	1	5.71	350.00	₹	1,996.90
5	Sliding Window		0.783	1.209	10.17	1	10.17	350.00	₹	3,560.43
6	Sliding Window		0.805	1.217	10.53	1	10.53	350.00	₹	3,684.69
7	Sliding Window]_	0.822	1.214	10.72	2	21.45	350.00	₹	7,506.46
8	Sliding Window	5mm Clear	0.788	0.800	6.77	1	6.77	350.00	₹	2,371.00
9	Sliding Window	Glass	0.803	0.840	7.25	1	7.25	350.00	₹	2,536.94
10	Sliding Window	Giass	0.617	0.925	6.13	1	6.13	350.00	₹	2,146.55
11	Sliding Window		0.816	1.207	10.58	1	10.58	350.00	₹	3,704.35
12	Sliding Window		0.808	1.207	10.48	1	10.48	350.00	₹	3,668.04
13	Sliding Window		1.557	1.219	20.40	1	20.40	350.00	₹	7,138.50
14	Sliding Window		0.875	1.223	11.50	1	11.50	350.00	₹	4,024.85
15	Sliding Window		1.549	1.212	20.17	1	20.17	350.00	₹	7,061.04
16	Sliding Window		1.550	1.212	20.19	2	40.37	350.00	₹	14,131.20
				Total	Windows	18	229.22			
Total						otal	₹ 8	30,225.70		
							GST	18%	₹1	14,440.63
							Gran	d Total	₹ 9	4,666.33
									-	

Validity: The quotation is valid only for 15 days from the date mentioned in this quotation.



Specifications:

- 1) Venesta White Colour profile, 60mm series, Espag and Single point casement will be used.
- 2) Flat Nylon Roller and Touch Lock will be used.
- 3) Branded Silicone Sealent weather proof will be used for the exterior and interior perimeter.
- 4) Fastener screws with nylon plugs of size 8*80 will be used for all windows, doors and ventilators.

Packing: Regular Packing

Terms and Conditions

- 6. 80% advance payment along with Purchase order.
 - a. 10% after delivery,
 - b. 10% after the Installation check.
- 7. Doors will be transported through a common transporter suggested by the client, which the client will pay directly.
- 8. Transportation will be charged on the actual.
- 9. Quote does not include any rectification, dismantling /erection of any masonry or concrete structure.
- 10. Unloading at Site, shifting to the location and safety & security of the delivered products will be client's responsibility.



GRAND TOTAL FOR THE RENOVATION OF BOARDING FOR GIRLS AT DON BOSCO VYSARPADI CHENNAI

26.02.21

Sl.no	Description of work		Amount
1	ESTIMATE FOR RENOVATION OF BOARDING FOR GIRLS		300940
2	ESTIMATE FOR ABS DOORS		263199
3	ESTIMATE FOR UPVC WINDOWS		94667
		Total	658806

(Rupees Six lakhs fifty eight thousand eight hundred and six.)